

1.  $(x - 3y)^2 - 2x + 6y + 1$  를 인수분해하면?

①  $(x - 3y - 1)^2$

②  $(x - 3y + 1)^2$

③  $(x + 3y - 1)^2$

④  $(x + 3y + 1)^2$

⑤  $-(x + 3y + 1)^2$

해설

$$(\text{준식}) = (x - 3y)^2 - 2(x - 3y) + 1$$

$x - 3y = A$  로 치환하면

$$(\text{준식}) = A^2 - 2A + 1$$

$$= (A - 1)^2 = (x - 3y - 1)^2$$

2. 두 수  $a, b$ 에 대하여 기호  $*$ 를  $a * b = \frac{1}{a - b\sqrt{3}}$  (단,  $a, b$ 는  $a \neq 0, b \neq 0$ 인 유리수)라고 할 때, 다음 중 옳지 않은 것은?

①  $1 * 1 = -\frac{1 + \sqrt{3}}{2}$

②  $2 * 1 = 2 + \sqrt{3}$

③  $3 * 2 = -\frac{3 + 2\sqrt{3}}{3}$

④  $5 * 3 = -\frac{5 + 3\sqrt{3}}{2}$

⑤  $7 * 4 = -\frac{7 + 4\sqrt{3}}{2}$

해설

$$7 * 4 = \frac{1}{7 - 4\sqrt{3}} = 7 + 4\sqrt{3}$$